
كارشناسي

عنــوان درس

كد درس/رشته تحصيلي

سري سوال تستي) : دقيقه(زمان آزمون تستي: تعداد سوالات  تشريحيتشريحي

������� 	
�� �
���

� �� ���� �� :::

:

:

: :

 ������� 	��� �
���������� 

The appeal to natural harmony was metaphysical,for it offered no evidence of what natural order

is.
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1. 2. 3. 4.

This was a sharp break with the theological view of life which had been transmuted into the

conception of natural law.
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This conception led to an awkward conclusion.
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Next product is the value of the increment of product expected from employing a man minus the

additional expenses.
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Marshall allows that a slump may be caused by a lack of confidence on the part of businessmen in

the future profitability of investment.
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The accountancy to which all phenomena of modern economic life are amenable is an

accountancy in terms of price.
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1. 2. 3. 4.

Labor is immobile.
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He eschewed fudging, when he came to questions that he could not answer.
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1. 2.

3. 4.

A tariff policy or import quotas, may effectively prevent certain commodities from entering the

country.
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GDP and GNP are very incomplete measures of economic output.
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Frictional unemployment is the irreducible minimum level of unemployment in a dynamic society.
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1. 2.
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There is a mismatch of skills and job opportunities when the pattern of demand and production

changes.
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High prices choke off the demand for oil-related commodities.
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Inefficiency is encouraged because a buoyant seller's market blunts competition as higher prices.
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1. 2.

3. 4.

Each purchase may foreclose buying the others.
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The normative question of whether this price is desirable is entirely distinct.
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Positive economics deals with objective or scientific explanations of the working of the economy.

Normative economics deals with objective or scientific explanations of the working of the

economy.

Normative economics deals with observations or scientific expressions of the working of the

economy.

Barter economy investigates function of the scientific expressions of the working of the economy.
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The system of relativities and traditional distribution

The system of relativities and traditional differentials

The system of relation and old discrimination

The system of relation and old divergence
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balance of pricesbalance of payments

equilibrium of paymentsprice equilibrium

19

�U

VW

-

..

..

"foreign trade zone" is an example of a........................ .

word idiom phrase collocation
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ablazeutterfloatloath
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"gravity model"

object+agentnoun+nounadjec"ve+nounverb+noun
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"I have not looked into the contract.It seems fair, though."


Y��� K���� �# 
� ZE= �� [�,� J0� �	

23-

1. 2. 3. 4.

AF5� K�0E CL�= M�2) �N��


#�� ���# \�$	�6O (#��,)��

24

�UVW

-

....

4   از 3  صفحه  94-1393  نيمسال اول   ����/�����O P  

www.hdaneshjoo.ir


كارشناسي

عنــوان درس

كد درس/رشته تحصيلي

سري سوال تستي) : دقيقه(زمان آزمون تستي: تعداد سوالات  تشريحيتشريحي

������� 	
�� �
���

��� ���� �� :::

:

:

: :

������� 	��� �
���� ������ 

A�*�� Q����= �� ���� CL�= M�2)
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Yet because their incomes will provide only modest amounts of these goods, most people always

choose among them."them"refers to.................... .

these goods people

incomes modest amounts
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